— g; biml 4l Jg;p P Ta—
() Cqutncl hu,(;mﬂd:mr ffow_miga
N/ S B

Q) 63 —29 (é ) m\x
' 9{1 4’0 it n Lo 6%
|1+ QO e T c
f (1 +20+5 = 2&) Lo |
(] o= "6 @ 7 |
£ .;;'0 - Basralei &D 5
4t v, 7. 320 + 2
(4 + 20 £) = M,/\ _
G) Jo-Lzp= 04 _
9,!*5 . 4o v eeni g 300
G A I 3 | |
. Ayav =24 o]
@" Subtnmed bu ex;Dnncb ng- b ,gmn)Aen nemnbert .
@:m~4a '}J@jz—lg
; ’x/\ : S \/\\
‘;:}Q~Aro:gL J2— 10=63
}21——0\”32 g3 — 1 =56
o 32 -49 =23 (An)- 32— = S6
. | il gt
(2 ‘Hc'» — 1% 1) g4-5S4
A | inj/\
| 10+ 3 7_____5-:1‘ ‘t L
A6 —\0 =26 f &4-50=39
36— & =% 23 — 4 =232
N Ab A= BTN S &3 —S4 =3

{!(DO Rs. no. GXx 4 b\-} Obor‘)) on eoft] |



= Subtract.
E 3 4 2
2 1.

[~ - 310
W

b

T

(@)

2oL

Regrouping hundreds

ENRICHMENT ACTIVITY

EXAMPLE 8 Subtract 181 from 455.

STEP 1 Subtract the ones.
5 —-1=4 ones.

STEP 2 Subtract the tens.
8 tens cannot be
subtracted from

5 tens. So, regroup

4 hundreds 5 tens into

3 hundreds 15 tens.

15 — 8 = 7 tens.

STEP 3

3 — 1 = 2 hundreds.
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Subtract the hundreds.
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When there are not
enough tens to subtract P
from, regroup 1 hundred 7‘(":3
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